=107

o(d @) (rad)

107

......................................

105

10

Ratl

0.95!

W[TTTT T

-1

0

1

2

3

TP n (PCA to beamline)

a(d cot(d))

10

Ratl

1072

,_.
S
L

1073

——

105

iy

0.95!

W[TTTT T

-2

-1

0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allNODNN2

—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__ all2

SICEWATL

0.95

=

o p/p.)

,_.
<
L

W

0

1

2

3

TP n (PCA to beamline)

|
W[

-2

-1

0

1

2

3

TP n (PCA- to beamline)

oo a,) (cm)

z

=
<
[

1072

iy

|
W[

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


